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QUESTION 1
What statement accurately describes Folder classes and Default classes?

A. Folder classes are used for exceptions, and Default classes are used to define how matches fortraffic flows are
found

B. Folder classes are used for organization, and Default classes are used to catch unclassified traffic
C. Folder classes and Default classes always share the same parent classes
D. Folder classes are used to catch unclassified traffic, and Default classes are used for organization

Correct Answer: A

QUESTION 2

Two classes need to be created; a Citrix class that matches traffic by client name, an HTTP class that matches traffic by
user-agent had URL. Which command helps determine the matching rules?

A. class criteria

B. traffic history

C. class capture-IDs
D. traffic flow

Correct Answer: D

QUESTION 3

Which two (2) actions are most appropriate for controlling prohibited, unsanctioned traffic flows such as music
downloads? (Select two)

A. Set a discard policy to block the traffic

B. Set a never-admit policy to redirect the traffic

C. Set a rate policy with 0 guaranteed, bur*table, at high priority
D. Set a rate policy with 0 guaranteed, burnable, at priority 6

E. Create a static partition for each branch

Correct Answer: AE
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QUESTION 4

Refer to the traffic tree in the exhibit.

Which policy does the PacketShaper apply to London HTTP traffic?
A. Priority (0)
B. Priority (3)
C. Rate (2) ok
D. Priority (6)

Correct Answer: A

QUESTION 5

What statement accurately describes an ignore policy?

A. With an ignore policy, traffic is ignored but still counted as part of the link traffic under management
B. It causes PackelShaper to treat specified flows as pass-through traffic

C. With an ignore policy, the CU must be used to review RTM

D. It traverses the traffic tree looking for a matching traffic class

Correct Answer: A
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